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1. In{120 Jiters of a mixture of milk and water in
the ratio of(3:1)f a milkman sold 20%f the
mixture and added some equal amount of milk
and water into the re remaining mixture, the ratio
of milk and water become_#\ 11:5 and then find
the difference between the amount of milk and

water in the final mixture?

A.60 liters
B.36 liters
\ﬁﬁs liters
D.72 liters
E.None of these K 21\ W"L
Mz % 3 .

2. A vessel contains milk and water in the ratio
of @ If 15 liters of mixture is taken out and
replaced with en the rafio of milk and
water becom en find the total quantity
of mixture initially? _—

1) A and B together can complete the work in
20 days and B and C together can complete
the work in 60 days and C alone complete the
work in 120 days. In how many days A and C
\}n?gther can complete the work?
2 —_

720 days
B.24 days
C.30 days P Yot
D.36 days _anl-C”
) .30
E.None of these [c=%

(lessthan the efficien ofIfA and B
together can complete the-work in 14 days and
C and D together can complete the work in 36
days, in how many days B alone complete the
work? -
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1) Pipe A alone can fill the tank in 1 hour 30

mindtes and pipe B alone can fill the tank in 1

hour and pipe C alone can fill the tank in 30 _

minutes. Pipes A, B and C opened together.

After y minutes, plpe C closed and the
a e pipe A and B

5
B8 S
C.12 3
D.15
E. None of these c— . .
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time taken by Pipe P alone to fill the tank. If the

time taken by Pipe P alone can fill the tank is
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3. A vessel contain§ 160 liters Jof mixture S .
milk and water, in whiciTthe quantity of milk is = L

S
P S 24 Ux

47

200% more than the quanti

liters of mixture is removed and x liters of water

360

is added, then the ratio of the milk to water .ab
\;/e?rne@:flnd the value of x. LSS HZCW) Ex —ql‘
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3) A and B togethed can com three — @("9 -
fourth of the work in 9 day< B arid C fogether l 76
can complete two-third of the work in 11(3/7) — LRI | J"“‘Q'g
days and A and C together can complete 75% 4
of the work in 10 days. In how many days A ~ l w > 2 =94
alone complete the work? T 10 dous. Yy
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E. None of these

3) Pipes P and Q together can fill the tank in

minutes and pipes Q and R together can fill the N - %ﬁ* "}

fank in 30 minutes and pipe(Q alohe can fil Jant -

12.5% of the tank in 5 minutes. Find the time = U =25

taken by pipes P and R together to fill the @ Z_é

tank? -
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and R together to fill the tank is @qualto the A.30 minutes D. 60 WM % - -2 =4
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nan examination MWM 8400 more than the number of illiterate ¢
@,— ndidates was(five times the number population, then find the number of female S @ it
fa idates. If there had been 40 less population in the city? 2 L —Yo
candldates appeared and 20 more candldates A18200 - ca-b0 w42 -
fio<C 118400 i
C.18600 Sn-60 _ 2
D.18800 A420
\:;2%. E.18900 Gnelo = Bt 6o
C.50 3. The total population of town A is 2/5™ of the 2n=120
D.300 total population of town B and the ratio of the ~46
E.None of these total population of town A to C is 4:7. If the total =
population of towns A and C together is 150 -4
2. The ratio of the number of literate and more than that of town B, then find the total A = % (62 k= 3 c
illiterate population in the city is 8:5. If 40% of population of town C?
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Direction (1-10): The following question Bx2y

contains two equations as | and Il. You have to
solve both equations and determine the
relationship between them and give the answer
as,

1)

1) x?+x-702=0

)y> +57y +812=0

Ax>y

Bxzy

C.x =y or relationship can’t be determined.
Dx<y

Exsy

2)

1) x*—70x + 1225=0
) y> — 69y + 1190 = 0
Ax>y

C.x =y or relationship can’t be determined.
Dx<y
Exsy

3)

) x*-10x+24=0

1) 2y* - 13y = -21

Ax>y

Bxz2y

C.x =y or relationship can’t be determined.
Dx<y

Exsy



1. Ifthe ratio of the side of the cube to side of
the squareis 1:2andtheratio of the length of
the rectangle to breadth of therectangle is 5:4
and theareaof the rectangle is 80cm2. If the
perimeter of the rectangle is equalto the area of
the square, then find the volume of the cube?
A.64cm3

B.8cm?

C.25cm3

D.27cm3

E.None of these

2. Theratio of the radius of the cylinder and
radius ofthe sphereis 1:2 and the height of the
cylinderis 14cm. If the curved surface area of
the cylinder is 616cm2, then what is the
difference between the numerical value of
volume ofthe cylinderand the surface area of
the sphere?

A.308

B.402

C.317

D.423

E .None of these

3. Ifthe length of the cuboid is increased by
30%, height ofthe cuboidisincreased by 10%
and the breadth of the cuboid is decreased by
40%. Thenfind how much % does the volume
willbe increasedor decreasedby?

A.14.2% increased

B.12.5% decreased

C.8.2% increased

D.13.6% decreased

E .None of these

4. The circumference of a circle is one-third of
the perimeterof a rectangle. The area of the
circleis 2464 sq. m. Whatis the area of the
rectangle, if the breadth of the rectangle is 120
m?

A.18560sq. m

B.17280sg. m

C.16720sq. m

D.19340sq. m

E.None of these



